£&B203 OIJ=)LFIV

HMEMRTOREEXRFMLDHH -BBEMNDHHE -BBE] (FH2EFE)

(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)

#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A

1 |dtiE

2 |EHE

3 |AFE

4 |EHE

5 (AR

6 IR

7 [EER

8 |ZWE

9 [WHARE

10 |HBER

REEET! 2.7E+1 27.0 1.0E+0[ 6.2E+3 6,243.0 6,270.0
12 |TER

13 |HREER

14 |[#E)E 7.3E+1 73.0 73.0
15 |FriRE

16 |[EWE

17 |RIIE

18 |BHE

19 [ILEE

20 |RHE

21 |IgEE

22 |E&mER

23 |EBHR 3.6E+2 360.0 360.0
24 |=ZER 5.5E+2 554.4 554.4
25 |#HER

26 |REAT 2.0E-1 0.2 7.9E+2 790.0 790.2
27 | KBRAF 3.6E+4 36,000.0 36,000.0
28 |EER

29 |ZRER

30 |FnFLER

31 |BHRE

32 |BRE

33 |FWE

34 |LER

35 |lLOR

36 |EER

37 |BNR

38 |BIRER

39 |EER

40 |fEREE

41 [EER

2 |RIBER

43 |RERR

44 | KHR

45 |FIFER

46 |EEER

47 |[HiER
£ H 2.7E+1 27.2 1.0E+0| 4.4E+4 44,0204 44.047.6
1)

EE - IO7IAN) RS/ BERRERV AT LBEHER




